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X4 SHA4E SHIS BimH BigE (%)
B | EEY | BEY | 4% | EEH | EFEN | 4% | ®ER | EFER #E SEHE BEH
T 1,018 211,125 1,077 191,177 -59 2 5255 10.5 4.4
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0~2 | 2~4 | a~6 | 6~8 | 8~10 | 10~12 | 12~14 | 14~16
R B K 0 0 0 0 0 0 0 0 0 0 0 2
—— {51 0 0 2 1 1 0 1 0 0 2 0 4
O ABEBHIE, & (2285~248) DOBREFHICS{HREL TS,
O ETHEHMIE. | (2285~248F) OBMTEICE<HRELTWS,
(3) EEMBKANFELEKR
R4 sS4 SHISE BRE HERE (%)

_ _ HE | EEY | BES | H8 | REH | SES | 48 | RES | GER ## EEH ZEH
ESEEX:: 11 2 11 9 10 2 2 1 22.2 10.0
% £ =5 3 [ 1 1 2 4 200. 0 400.0
) T D i 1 1 2 2 - -1 -50.0 -50.0
I Bt 4 6 3 3 3 33.3 100. 0
" B E (%) 36.4 54.5  33.3 30.0
XERfFE 3 3 2 3 1 50.0
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B B % 4 2 2 4 4 2 -2 -50.0
O XREATOREHEINHEFTHSAEDOH 43 (36.4%) #5HTIVS,
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K4 sS4 SHISE BRE HERE (%)

_ _ | EEY | BES | H8 | EEH | SES | 48 | RES | #ER ## EEH ZEH
BEeER 1 2 1 9 10 2 2 1 22.2 10.0
A W B m 2 2 -1 -1 -50.0 -50.0
EEEFEN 2 2 -2 -2 -100. 0 -100. 0
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H B 3 3 3 4 -1 -25.0
W HE W 1 1 1 1
wW EEHF 1 1 1 1
EN IR 2 4 2 4

Bt 1 9 4 5 3 4 75.0 80.0
B oW OB M 3 2 1 3 2 1
51 = 1 1 -1 -1 -100. 0 -100. 0
(5) HEHARLEKRR

K4 sS4 SHISE BRE HERE (%)

_ _ LEEN EEY | GEY (LUTEY REY | GES |LUFEY FER | AR | UEEH | REH ZEH
BEeER 11 2 11 9 10 2 2 1 22.2 10.0
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e (1) @ 10 2 8 7 8 3 2 42.9
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_ _ LEEN EEY | AN (LUTEN REY | GES |LUFEYN FER | AR | UFEEH | REH ZEH
BE e ER 11 2 11 9 10 2 2
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